[image: image1.jpg]+6,23

0,00

e

3 =
~
3
—
h} i
. s
I
=)
- —
Q|
- 2z L
G B SR
\L = o
=]
72
e
e e -
e
===IIIIZZIIIS Hu%
g -
-~ ok
""" o =
3 ~T=
&) ====S =EE o
e s el
= - Py
focudlisse o =
..
ket
), i m.
(«z)
(o)
©
(42}
+

r

jizni

+2,88
g

S
pohled




[image: image2.jpg]+7,93

+8,58
NN

+6,22

+2,88

0,00
N

+7,96
AT

+6,25
Lo

10,1

A8
|

+3,66

0,00

r

pohled severni




[image: image3.jpg]+8,58

I -7 93

+6,10

+3,92
+3,66

N

0,00

"I

+3,33

0,00

\/“’A

pohled vychodni




[image: image4.jpg]+7,95

+6,23

+3,66

[T

-

|

9,4

4,06

+3,33

0,00

pohled zdpadni '




